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Question Number : 1 Question Id : 9683553950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a valid agreement?

S06 MDD W 0TreES” B0ErED O3 200 DA?
Options :

1. #



Anil agreed to pay Bipin Rs. 25,000, if Bipin beats Ranu
DA T 53 0S5 8. 25,000 DO £ B3ocSerAS eoisBoared

Anil entered into an agreement with Bipin to give a job if Bipin promised not to do
Job anywhere else

DOS 88t &8{flo BAH T 9 &0 AFHD IS DS &

- VetV wid\odo
Anil agreed to pay Rs 50.000 to Bipin, if Bipin makes two paralle] lines meet
ot Rrodd Spvdd DR 4053, 6r.50,000 @S D L BotserRS
oAgBomr

3. %
Anil agreed to pay Bipin Rs. 15.000 for which Bipin agreed to paint the house of
Anil
DD QothS Howot) BANLANB WS DR D &r.15, 000 3docszrAS
90AgBoertd

4.¢

Question Number : 2 Question Id : 9683553951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is true in case of a contract of sale?
) 85D STotrs  Dc0eS” 308 TBS” B dzo?
Options :
A contract of sale can be for both existing and contingent goods

W) S Tolrs &3S’ ed) dbatn edIGVS S 8 3aHA
5200 830 BR08 By

1. %



Buyer takes the position of an owner as soon as the contract is entered into
Sofrs HEENDD) 3o Fohenmd abadrd Fard) Joded
2.

The seller can resell the goods in the event of buyer not paying the amount

Sofienmdd cavy 380 dbtter DIS Doy 86A ) Hisdy
3. %

If the goods are destroyed. the risk falls on seller
DRHWO (00 DS dQerdo DS P DESLOS
4. %

Question Number : 3 Question Id : 9683553952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An agent may appoint a sub agent under -------- sifuations
08 =-rn- DOREG' 05 J0855 dabdoctioy

1. The principal is aware but has objection
965 DBt b0zt ABotS &0 DS Do 5 TR

952?:509360 &0

it The principal is aware of the intension of the agent in appointing sub agent and has
10 objection

85 38085 0 aboerod) JFolS 8o HAFY % B Hodaky
weﬁsoeﬁﬁo &ree 5

iii.  Custom of trade supports
o & werot) wmd ST G o

iv.  The agent requires certain skills in rendering the job and sub agent has those
skills

DBot5 Satrdyd 0 B0 & LrEdB, W5 B0l D e D' Freago
eél&

Options :
1. and 111

1, sdo8ad 111

1, %
111 and 1v

. 111 S08as 1v
1and v

1 do8asw v
3. %

4.+



11 and 111

11 Su8ad 111

Question Number : 4 Question Id : 9683553953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a right of finder of goods?
308 578’ DA Hew 88D S VY, DLy, S°?

Options :
Right of lien
DRYVAD S0¢80a) DI 7K

1. %

Right of enjoying the goods

DHRDVD I Bod ),
2. -

Right to sell

SRDOVD W), T°LY);
3. %

Right to sue for reward

257008 Sho oo BH :30533’
4. %

Question Number : 5 Question Id : 9683553954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The damages claimed in case of breach of contract to marry or dishonor of a cheque by
a Banker wrongfully are known as

dariro B8 He3 W0YOEPR) EY0VOLIOND T 22 WD B A &r(osh
ST 30osBd S0 T 6D ok - wotrdd

Options :
Ordinary Damages
Frores ééﬂm

Special Damages
DSBS dgren

Exemplary or vindictive Damages

SR FADRD ST DTG RPESD Haren
3.

Nominal Damages

L T0BCGY) daren

Question Number : 6 Question Id : 9683553955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an exception to the doctrine ‘Caveat Emptor’?
08 T8 TR wrdd SErordd Qdifae) D62

Options :

Sale is under a patent or trade name

D808 Tor GE DHE B2D ) o
1. ¢



Sale is under free consent of buyer and not by fraud by the seller
DS Ao o SeEor SRl e o), ;::.méaﬁ“ BOd W) o
2. %

When buyer gets adequate time for inspection of the goods
S0PV 3D FE eI TR LD BB 2200 T

3. %

When buyer does not reveal to the seller as to why he is purchasing the goods

S0P o Eotwe) 8 Efientrdd DL DL oty
4., %

Question Number : 7 Question Id : 9683553956 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Radha orders for 30 units of parker pens with M/S Paras Stationeries. They supply 50

units. Radha can ------
M/S b0 ifgmﬁ 36 30 el 3“665 o) 0 §0 770 865 SRood. T 50 s

NI B, TG ===

i) Reject all 50 units
2do 50 afrde) @d’cobbodmﬁ)()

i) Accept all 50 units
20 50 o5y @ofigBotsiiy

i) Take only 30 units and reject the remaining
8500 30 alardby Srddy S8R, LAY B @6“@2}606&:‘.’1{)
tv) Sue for damages
$5g0b60 §0 T Sonsdtioy
v) Pay for 30 units and seek imstallments to pay for remaming 20 units

30 csorRipso Bod) 0Bty ABI 20 ctarAye BBoustedS rorErery S8y

Options :
LOr i1 orii oriv

1. Oo° 1l Oo° 111 O5° 1V :‘So‘.’x};ﬁmam

10r 11 or 1i1

1 S 11 Soe il ﬁobamam
2.

all the above

25 BODLSEN DD
3. %



111 only
iii Sor @ BabHOEN
4. %

Question Number : 8 Question Id : 9683553957 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the true statements about the contingent contract from the given below
statements.

Bt 98), ) D0t ooc. SotloBol) SPofrs HBod e B30 v
to8ocsod.

i Itisa contract to do or not to do something
B Sohcéo S BoET Do w8 SotdoZoth S
ii.  Its performance depends on future uncertain event
B DG BB’ 63D DovID BEEHE Gotod
1. 1t confams reciprocal promises
26 DO\ o SR 6ol

Iv. A contingent contract is void
SohoZot) Sofrs o

V. Insurance contracts are conringent In nature

AN S"ogé e %0800t ’c\}sw;’}uﬁe &0t

Options :
1, nand v

1, 11 Sv8asv v
1.¢



1. 1 and 1v
1. 11 o803 iv
2. %
1. 11 and i1
1. 11 Sobaosw iii
1. .11 and 1v

11, 111 So8os0 1v
4, %

Question Number : 9 Question Id : 9683553958 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Agreements in restraint of trade are void. Which of the following is an exception?

Trdaf dahoden wiyorren Bu) o TS o FOS IO DdFanesy)’?

Options :
An agreement of restraint between the partners not to carry any other business other
than that of the firm while he 1s a partner
mg@‘ e;rﬂﬁﬁvsibm GR3) Q. 203 0308 J"@ﬂéo g0 8 QeSS
TIFTR) AOEPOSEARESD 0 LRFRLY $ DoaHido N wdyodo

1.¢



An agreement between two businessmen of same trade where one person is
restrained from carrying out the business

w8 o B0 B TS0 dogk| WY TFTY) AWEPodeAS ws
518 BBodotoh SDHI WS widyoto

An agreement between the buyer and partners about carrying business with a

different name afier the sale of goodwill after the dissolution

B> ST HHE DS DFanodd S S HEHE a;@omal §ddRotdtto
$800) Sofenmrdy duBosn e;vnbvsaua g8 iyt

Agreement with majority of suppliers for purchase of production and also having a

right to reject the production if there is no market.
60\00 SRoffen Sabemdd 2ol VEHTTERS wiyode wBaky Lrd)E

GEAR eébe;?b @6;’62}60:3 L), ST $OA socitlo.
4, ®

Question Number : 10 Question Id : 9683553959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A wagering agreement 1§ -----------

relelare)) a..:i‘.:}:}cr:ﬁn ___________
Options :

Vahd

DQ0ETE A3 20040650

1. %



Voidable

G Do hﬁ:}DCﬁD
2. ® =

Executed

9.8 BVODLEIHA

Void

VO e..r‘éjbocﬁo
4, &

Question Number : 11 Question Id : 9683553960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Goods destroyed in a cyclone should be credited to -------- account
Soradoes’ $5(0R0 BoHREH BV === e £ 2 S0d:
Options :

Sales Account

1% e&aﬁz&svu e

Loss of Goods due to Cyclone Account

_, BoTra0 5760 S0P dPo T

2.
Purchases Account

- T8 o



Contingency Account

So&oﬁbs are
4, %

Question Number : 12 Question Id : 9683553961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Contingent liability is shown in the balance sheet as per ------------

(0D 258 S080B )y 8y §08 -r-nnvvneene Fomaho P00 BFHEEHR

Options :
Convention of consistency
RDEIP] FPoVTOREL
Convention of disclosure
DS 18 DVE JroToRo

2. %

Convention of conservatism

. ehaToed FronT00
Convention of materiality
20ABAST O JropTraio
4. %

Question Number : 13 Question Id : 9683553962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
As per Receipts and Payments Account, subscriptions during the Financial Year

2020- 21 is Rs. 95,000. Advance subscriptions received in FY 20-21 - Rs 15000, FY
19-20 - Rs. 25000. Subscriptions outstanding for FY 20 - 21 are Rs 20000. Subscription
collected directly by the Secretary not deposited in Bank i FY 20-21 is Rs 30000.

Calculate the subscription amount to be shown in income and expenditure account.

B8 D038 \00 (@, %0.) 2020-21 & e 3dop e 5o Sor
oo 6 95, 000. @0, 2021 Sobafy @ %0, 1920 & wotheidy em(dy
o 6 15000 oBako 6. 25000. &.7020-21 & wow &y o &r. 20000.
2020218 g8 Hore 2gBodd oz U 30000 er(oSE” e sG>
SEros0 S06ain S{08 srered’ Srardid core g 98 oitod

Options :

1.55.000
1.4

, % 1,70,000

1.60.000

3. %

1.40.000
4. %

Question Number : 14 Question Id : 9683553963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a feature of Joint Venture?
308 TS AB ro0ts Dotsd BWE), VL0 SPE?

Options :

[t 1s a temporary partnership
2 o) O wﬁaﬂséj§o

1. %

Joint venture business is suitable in case of specific ventures

N Dotk Ao 2ol Dok TG0 WREIVOT Eotwod
2. %

The relationship among the partners continue even after the venture is over

DocSE ANADD SO Sre e,rnﬂﬂsa‘me) S6 Wowocso §_F 000

3.¢

Any number of persons can join the joint venture.
200085 DotIGES” DohAI0d VOV BEDON,

Question Number : 15 Question Id : 9683553964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements on Account sales in consignment is not true?
W0t DY DowoBodd & ob HELHVS’ A o 5°¢?
Options :
It is prepared by Consigner

AAD 006 SASTEBIW
1.4



It 1s prepared by Consignee

AID D\ S EBFED
2. % =

Expenses and commission are deducted in Account sales

DENL HBCKL SWND WSS VG & B_DobeEEron
3. %

It shows the relationship of principal and agent

Q8 DTS HBain BotS Doeerr) BrEHBS
4, %

Question Number : 16 Question Id : 9683553965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Calculate mterest outstanding from the given details as per Trial balance as on 31/12/20:
1220 @8 oS (OS5 AW DT Al WY &) G
&%) 0cdoc:

1) Loanat 10% Rs. 50000 (Credit) and mterest on loan Rs 3000 (Debit)
doeao 10% 8. 50000 (5E¢5) 80k Goesop bé g 3000 (GD4)

ii) Adjustment: Interest on loan to be charged for full year taking into consideration

that Rs. 3000 was paid towards loan on 31/3/20 and Rs 5000 on 30/6/20

Sgoerty: 31/320% oo 23000 Bk 30/620 & 625000 3hocdiok
286’3 B8] G V0TS Geop g T3 0D

Options :



. Rs.2300

Rs.2500
2. %

8. 252
3.¢¥

L

4« Rs.2875

Question Number : 17 Question Id : 9683553966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If opening stock of raw material is Rs. 25,000, net purchases Rs. 80.000. wages
Rs. 2.500. carriage inward Rs. 2,500, salaries Rs. 8.000. and closing stock Rs. 10,000.

What is the manufacturing cost?

d0dd0d oz 8 &r. 25,000, g6 Sl dr. 80.000. e &r. 2500,
S8 @ 62500, derev dr. 8,000, 2aky dwhox) FE &r. 10,000.
Soird oy od?

Options :

Rs. 1.08.000
1. %

Rs. 1.00.000
2.

Rs. 97,500
3. %

Rs. 95,000
4, ®



Question Number : 18 Question Id : 9683553967 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Purchases book has been overcast by Rs 5,000. What would be its effect on profits and
capital?
g a‘nﬁﬁg.j )wso . 5,000 ;)sobbrr’ Ardedod. PR Parao erered Sdain

UPOEN0 2 e &otnod?

Options :
Gross and net profits increase and capital remains understated
‘é}me) 08030 Q8 ereren DTN 801N Sareddo e‘.’aé%;srw &0t0od

1. %

Gross and net profits mcrease and capital remains overstated
"gﬁu 8050 AEY ererren aAEEaL 8050 Sareddo dSomr Gotnod

Gross and net profits decrease and capital remains overstated
‘{g:ﬂe.} Sboin %Y ereren ég.)@“cm 208030 Areddo o Gotnod

Gross and net profits decrease and capital remains understated

;me.: 6010 V88 ereren éﬁ)@“m 0010 daredido é&)bbrw oo
4.

Question Number : 19 Question Id : 9683553968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the option is true with reference to the below given two statements,

088 @bswéé Gott 500t % Doeodoud ) BVOC.

(A): Provision for repairs and renewals 1s a charge against Profit and Loss Account
6og wofofn GArSy  SoH TMd e o Mo rTd
202080006

(B): Even after one asset’s life is over for which provision is created, the account

remains open for other assefs
T w8 un 6 ‘{oaijgoém&é:)‘)&é e Edo AAvY So(d Sre
286 s 8§90 JOad o 360 Gokwod
Options :
(A) 1s correct but (B) is wrong
(A) 288 529 (B) &2,
1.¢
Both (A) and (B) are correct

(A) 208050 (B) Bo&r 08D
2. %

(A) 1s wrong but (B) is correct
(A) 8Dy 5% (B) 2328
3. %
Both (A) and (B) are wrong

) (A) 508050 (B) Sotir 2y
4,



Question Number : 20 Question Id : 9683553969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true i case of forfeiture of shares?

$06 T8 irodd 23 SO dotdyd B Nadr hiocsod

1. The company’s Articles of Association should permit for forfeiture
doa0) UENER pYndhad %) SRS BNSErd
1. Board of Directors should serve a notice on forferture to the shareholder

cogg ', oo adonded S8 wederd

iii.  Board of Directors has the power of directly communicating the matter of
forfeiture without any resolution
dro g Fehore 2 Jord) o 3DaEd whsdo 56 wd
G0g0 &odd
v, The person whose shares are forfeited ceases to be a shareholder of the company
TErey aiy) SoBdd S8 000 TEPTUT Eokd
v.  Company refunds the 50% of the amount paid by the shareholder on forfeiture of
shares
Tt 2R Trod 30odd wdes’ 50% o) 88 B3dwod
Options :
1. 11 and iii
1, 11 So8asw iii
1.%
i.11and v

1, 11 8o 1v
2.



1.1andv

1 11 S08ain v
1. ivand v
1. 1V So8adn v
4, %

Question Number : 21 Question Id : 9683553970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC Co. Ltd purchases shares of XYZ Co.Ltd without its liquidation. The shares are
purchased with an mtension of significantly nfluence XYZ Co. Ltd. rather than control it

Then XYZ Co. Ltd s called as -------
ABC Co. 386 BS(@ad dhor XYZ Co. DBE agin § Dffew Stwed. XYZ
Co. dBELD dabodossdore Moo perddo do Tred ad Sdofiew
3033&3&?&13. @)y XYZ Co. R V[ e90tTt)
Options :
Holding Company
FOoh oD
1. % i
Subsidiary Company
RDVEE o
2. ®
Acquiring Company

Eﬂ:s_s&oﬁ 200D



Associated Company

OV HBE ZLond
4.9

Question Number : 22 Question Id : 9683553971 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
IND AS — 38 refers to

IND AS -38 -—-—-- QAP0

Options:

Accounting for Reconstruction

D8 o7 £20 D080  e95"08d0h Q"odg

Accounting for Amalgamations

DR FTOR DDDLBod wsToloh  Frocd
2. %

Accounting for Intangible Assets

S20203 ROV DVLBoD @S0l Foid
3. ¢

Accounting for Financial Instruments

ugs 0008 (Financial instruments) DzND4B0d 95700k Qﬂodg
4. %



Question Number : 23 Question Id : 9683553972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What would be pre incorporation wages in the weighted time ratio for the following data?

306 v Kood JonBE BN Tadird ) awB\0ad Ssmen duffded?

i, Date of incorporation - 1* June 2020
Mo B 861 ard 2020
ii.  Period of financial accounts: January to December 2020
oS0ty Soird) G0 wo: a0 Aok Gadewd 2020 S8
iii.  Total wages Rs 280000
audo eren dr.280000

tv.  Number of Workers- pre incorporation period : 10
5°6) %0 K}omﬁ . faa‘%ff ‘)87‘.:15 200 s*o0; 10

v. Number of Workers- post incorporation period: 25
5°6) %00 :30335- f‘aaf’bé')" 38?’.15 e‘.§0°5e3 500, 25

Options :
Rs.1.40.000

1. %

Rs.80.000
2. ¢

. Rs. 1.00.000

Rs. 75.000
4. %



Question Number : 24 Question Id : 9683553973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forfeited shares account appears on
2 DD A PT° ------ D0
Options :
Liability side of the Balance sheet
ar&ejf'%;} ) A QOG0 8AtL WIDNY DD
1. %
Asset side of the Balance sheet

(T 2265 As); BV DY

Credit side of the P&L Account

; x P&L o SAeS D

Credit side of the P&L Appropriation Account

P&L Strowosy @ SA8 D5
4. %

Question Number : 25 Question Id : 9683553974 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



25. The share price of Ezee Ltd. as per market is Rs 350 and its earnings per share is Rs.25.If
the company maintains future profits of Rs. 25,00,000, what would be the capitalized

value of earnings?

Ol psdo s QLBE 26 §66r. 350 Sdaly I ab p  erabo
(QBfy 96 26 &r 25 4odd FDyod® dr. 25.00000 ey SRV
UIPOEPY APOGD Deod Jede?

Options :
Rs. 3.00.00,000

1. %

Rs. 2.50.00,000
2. %

Rs. 3.50.00.000
3.¢¥

, » Rs.4.00.00.000

Question Number : 26 Question Id : 9683553975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The net profits of a business after providing for taxation m the past five years are;
Rs 60000, Rs 75000, Rs 80000, Rs 100000 and Rs 95000. The capital employed in the
business is Rs 6,00,000 and normal rate of refurn expected is 10%. Expecting that
company would be maintaining its super profits for next six years, the goodwill value
would be;

18 ot DoddTOE Do) SIS (S faRdo Gg) WY ereren ST
. 60000, &, 75000, &r. 80000, &, 100000 so8asn &. 95000. ms&doeﬁﬁ
eoairfodd dredde 62.6,00.000 8oy Frden el Gy wodte 10%.
o' 6 ModdTOD © 4D &Y Wb ey Sddriosd B3Rl
WEIS Devd FS) odoc

Options :
. % Rs. 122,000

Rs 1.00.000
2. %

Rs 82,000
3. %

4 Rs. 1.32.000

Question Number : 27 Question Id : 9683553976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Schedule XIII of Bank Accounts mdicates:

e°(08 rore A S XTI ----mm-- QIR0

Options:



Interest and discount earned on advance and bills

(DY S0k Do P HE 8L A ot
1.4

Commission, Exchange and Brokerage

SRS, D3y 08 DoBosw 83°43%

Profit on Sale of Investment

b%}nmé e9s50) Sop  ergo

Profit on Revaluation of Investments

b%anmmu m@éosm:g erZio

Question Number : 28 Question Id : 9683553977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tax paid in advance is shown by Banks in

E (DY BPoDD DAY erfoHe ------- S’ Srndrow
Options :

Schedule III

¢y I1I

Schedule XI

5 3:&?56 XI



Schedule XII
bcirée_'i XII

Schedule X
321613“595 X

Question Number : 29 Question Id : 9683553978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A - of net premium income carried forward to the next year as the Reserve for

unexpired risks in case of fire msurance is;
D6 BAMGD) Dabed - Pdo e wobo emalrd) drer $BF
wdd0 80 D605 6a6( ™ Sy I Awoddh SRUSYE

Options :
100%

Question Number : 30 Question Id : 9683553979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
X Co. Ltd. s being amalgamated with Y Co. Ltd. It issued 40000 shares of Rs 10 each.
Value of Gross assets 1s Rs 10,00,000. Sundry creditors stood at Rs 2, 00,000. Goodwill is
to be valued at 2 times the super profits made. 10% 1s the normal rate of return. The profits
for past 3 years are: Rs 1.00,000. Rs 1.50,000 and Rs 2.30.000. The intrinsic value per
share would be:

X Co. B0B6. Y Co. BBES D00 dobmeoFed. Y Co. DG a8)96
&r 10 JRyd 40000 g 20 dod. é}mu oo ded e, 10.00.000. dog
Goearrden 2.00.000 98 &) . (G0 devdiy 2 64 ridd oered eﬁb@“d). 10%
Forte Tl G, 4 S;inoabe:&hot'm ergren; &». 1, 00,000, &, 1,50.000 So8adn

d. 2,30,000. a:gﬁajﬁlﬁ 90800 D) oodh!

Options:

Rs. 25
1. %

Rs. 26
2. %

Rs. 24
4.

Question Number : 31 Question Id : 9683553980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. The first auditor affer incorporation is appointed in a listed company by

DRk o0 dog) armBY0a0 ShTd awcd edbddo dobdod  wdsto

Options :
Board of Directors

e5°50 3D RBED
1.\5? L= 2

Managing Director

Dd2oh £8E6
2. #

Registrar of Companies

8236 2D S0
3.%

Comptroller and Auditor General

s::gﬁué 908 3G 86 2HGS
4. % =

Question Number : 32 Question Id : 9683553981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Auditor should examine the following for the contingent liabilities with respect to arrears

of dividend on cumulative preference shares
DEVOED 2000y abp GIGE wsoud DoweBo) SooFol e 3
830 65336 308 8 26980z,

1) Shares certificates i1) Articles of association
R RSGRETY ufsdy ud faohid
iif) Bills receivable book 1v) Pass book
Dooen  Boded  go F o
Options :
1& 11
1.4
1 & 1ii
2. %
- & 1v
1 &1v
4. %

Question Number : 33 Question Id : 9683553982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true in case of internal control?

WoddS Jaboges JNaoS 808 TBS” & Dawo?

Options:



Includes all types of controls including accounting and operational

esotdoh SBain sﬂmigédméﬁ NS B) G5m  dabognod SO

6&0tDod
1.9

It 1s a part of mternal audit

A0 V0SS e33e5¢5°  2ddo

Internal check 1s above the internal control

WodSS SV woddd Jdoboges DO &od
3. %

It aims at checking day to day transactions and division of work

Fad eraordden 60k 09 JFadd $dD dobdo A ©g0
4, %

Question Number : 34 Question Id : 9683553983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An audit to check and evaluate the correctness of records and effectiveness of operations

on a continuous basts in an organisation by its staff is known as
b8 GlS T D0RY dwyed AWods PR 650 adydeto ddaty
51*6559.1“3“0 TRy 3D SoHEAN 0800 DFNOSEEAR erereeen 9083

Options :

1. %



Special Audit
DB(S e

Organisational Audit

Horied esdeS
2. % *

Internal Audit

@oe‘_‘scge:'a e32.85
3.¢

Interim Audit

mc;ﬁ?soe:’sd e3cieS
4. %

Question Number : 35 Question Id : 9683553984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Routine checking involves
FoSes DD eadTe

Options :

Checking the documentary evidence relating to capital issue

SHaretdd Doerodeh méa)sﬁ)oma e33O €5 2)

1. %



Checking the financial statements

88 (PPADS) Db 3D

Preparing and checking of funds flow statements

Do&y F S o5 Sakrd Bosn  BID
3. % e

Checking of carry forward totals and calculations in the book of original entry

wBERS dof DRSS TPFEE awpw Léaw THO  SD
4.+

Question Number : 36 Question Id : 9683553985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true about Pivot Table in MS Office Excel?

$08 b MS Office 9516 &' D3 Ged (pivot table) (B0 B dwo ¢!
Options :

Subtotalling and aggregating numeric data

0B8] S e AT 85D &D DT Yoo

1. %

Summarising data by categories

ST T8 Cier &L Dosodo / Do BSobcto
2. %



Creating custom calculations and formulas

@HIT P50 TH o Do BAID ATV D)oo

Pivot table is necessary for sending data to other places

QS DETOLH ELrdd Dodto S0 NI Sewes 950
4, &

Question Number : 37 Question Id : 9683553986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Taking a structured data/ document and combining with another document is known as

A8 Ghrdy CrolS Srugidto nBak S8 réol & Suiko -

e90trdd

Options :
e- mailing

Q-a00000h
1, %

mail merge

Ao DdHo
2.

document merge

DS DdHo



customised data

WROLrIL60DD (SYB) E&r

Question Number : 38 Question Id : 9683553987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An IP address is 2 -—-——----—--

IP QoTrar g ------

Options :

32 - bit number segmented into four bytes

32 - DS Doy TrerDd 8 Qo DBBoeCod
1.4

. 64 - bit number segmented into four bytes

64 - DS :‘boa.u}s e 8365 e DEieocdierciodd
2. %

32 - bit number segmented into three bytes

32 - DE Doy HS0ImEd g€ T DF20L3ecod

64 - bit number segmented into three bytes

64 - DE Doy Hred BE LI DFeotserc.od
4, *



Question Number : 39 Question Id : 9683553988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The specialised programs which allow communication between software and hardware
are known as

PR D6 Bafn 9GS doghy SBar(IBAS 0 edoSod DS Yoo 0 eenene

290880
Options :

System software

292 FPH D6

3

Application software
9250 Eﬁﬂgg o6

Operating system

53806 DHD
3. %

Utility software

DI FH D6
4. %

Question Number : 40 Question Id : 9683553989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Transition of static images in Power point presentation is known as --------

056 oot HBSAS & TS ADE © DODGHRD reeereveeeea- 0tr D

Options :

Power play

D6 2
1. % =

Slide show

o0& oF

Lo

2. %

Image movement

DS S5
3. % 7

Animation

QIO
4.

Question Number : 41 Question Id : 9683553990 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Scarcity Definition of Economics was given by

e28<€5°%0 cﬁ:osb §5d¢h bdcsﬁﬁéo ‘a&‘)éaﬂm
s

Options :
Marshall & Pigou

ArdgeS & D"
1. % a



Paul Samuelson

DeeS  FeAT(OND
- T

Adam Smith

e3¢t 3:&95
3. %

L. Robbins

I, U“E)EJD
4, &

Question Number : 42 Question Id : 9683553991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following comes under the scope of Micro Economics?

308 O I8 WE ISTNEY DO H0d?

Options :

Demand analysis

Aol DB
1.4

Pricing policies

AE TP
2. %



Income recognition

o0 80D

Capital management

SAPOSD bdstbvea
4, %

Question Number : 43 Question Id : 9683553992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When the price of tea increases. its demand decreases and that of coffee increases is the
substance 0f ---------

8 &4 DBV, T ol Siddod SBakw 0 Gdrol  DKHS0d

Options :
Income effect

e300 2”00

1. %

Giffen goods effect

AR DDV DaIrdo



Complimentary effect

SP000088 Do
3. %

Substitution effect

‘@Eﬁ“ﬁaﬁ}"ln‘i’) 2023200
4.

Question Number : 44 Question Id : 9683553993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In case of mferior goods, the income elasticity is
T80 SwdHv oo, Tl fgag:}sa () DRL)

Options :

Positive

TR (evd08re0)

Negative

23S
3.¢



Unitary
o30r D8

Question Number : 45 Question Id : 9683553994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements relate to isoquant’

& 308 5008 o a‘)ﬁﬁs"soé.i 3 500080058 7

L. Anisoquant shows all combination of factors that produce a certain output
AENIEERGAER SN G RICHEGEESNERY

Ab0) 3 Vil
ii. It indicates optimal combination which gives the maxinum output

9 165 s S @y 90 Soandiy Ardiood

fii.  Italso indicates all combinations of factors of production that cost the same amount
cost
o8 g’ 2y wady EHITET ) SVAVEVR dree 9d ArdRed

iv.  Itis also known as equal quantity curve
w8 D09 ErOR) Dot PG0R08 S oVl ool

&dy9 doird
Options :

1 % 1,11, 111

1, 1,1V

2.

3. %



1. 101, 1V

11, 111, 1V

Question Number : 46 Question Id : 9683553995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Increase in demand is indicated by the shift of demand curve to the
AdTob DEDGOS AdTos HEBD --------- 3 Ardeod

Options:
Right

1_\_{,53&

Left

Aafel

Vertical

3. % SUJQ')

Horizontal

DeaTrodd

Question Number : 47 Question Id : 9683553996 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Whenever the marginal cost is below the average total cost, the average total cost

e:rodh Safo it Awdo Mo S0l By ST D). Dtk Ando DAY

Options :

Rises

Faleblablablelal

Falls

SHSE00H
2. ¢

Fluctuates

PN e 9HB008
3. %

Remains same

e9e°(} 0t 0d

4. %

Question Number : 48 Question Id : 9683553997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is true in case of Returns to scale?
SEFH0000D O (f.sm&lJ & 2),6) £ dowodod Sod G085 © &' B

da0]

Options :

It relates to the behaviour of total output as few inputs are varied
20 §Q) 0B e HrBydothdd Ando D B g HHGHD

020800 DFed

It is a short run analysis of the output behaviour with change in all inputs

20 ) A &’ &‘.U“CSJDESG D5 D DIGH A TS e

It is an analysis of the average variable cost and marginal cost in long run

30 BYstw0S it 56 Py Wbk Erod Bako S e

It is an analysis of behaviour of total output as all inputs are varied in long run

28 &gsvuoas“ ) ANV 00 ArG 130tk o NS YE CE), DI

4.

Question Number : 49 Question Id : 9683553998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The Law of Variable Proportion states that ----------

Soeor S grodo (e e Hiobens 2JYDY ) Psto-------

Options :

1.

L 4

#®

The quantity of a factor 1s increased while keeping other factors constant, the total

output first rises at an incremental rate, then at a decremental rate and lastly the total
production begins to fall.

28 5080 DBArE0 Dothdr Y8Y SEPV i@:&dorw GO, Ao
B DS 206k AR S A8, ST St Gend

HHrHS006 By I8 Ando &G DATWeko FrdozsiHAoed.

The quantity of a factor is decreased while keeping other factors constant, the total

output first rises at an incremental rate, then at a decremental rate and lastly the total
production begins to fall.

w8 5850 H0Are0 Siar 26 SO i@}dw G0N, oo
S DB A0Ek MDY Fend DrS008, ShTd S Gend

DbrdB008 280k DB Ado &G ATV FdorkidAoed

The quantity of a factor is increased while keeping other factors constant, the total

output first rises at an incremental rate, then at remains constant.

w8 5°680 DBAre0 Doty B6 OV NG &Y. Ao

0I5 D 20068 DDA B DMHAB, TS Hor Gokood



The quantity of a factor is icreased while keeping other factors decreasing, the total
output first rises at an incremental rate, then diminishes at a rapid rate

wS 57680 HOAre0 Dohdr 288 STV SHAPIY YD, dwdo 98 D
20638 AR Bend aer008, IS Diforr Stheood

Question Number : 50 Question Id : 9683553999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The coefficient of price elasticity of demand between two points on a demand curve 1s
called as -------

Garot 3387 Both Arawod) S0y GAPols B8 NOFDSS oo werere N
2LDDREB008

Options :

Point elasticity
Fo0tS  DAIHLE
1. % =l =
Income elasticity
BTPOD DA DES
@ &
2. %
Cross elasticity

0 DADEES
3 % &



Arc elasticity

es6), fgatgufase:s
4. o

Question Number : 51 Question Id : 9683554000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are true m case of Articles of Association?
0SS ud oTcbad Jaahed’ d0b O 6 ao?

1) It helps the company in mternal management
20 Bodtd e ol HFADOEIS0B

if) It s also known as doctrine of indoor management
BN @otd DdE0 i}g’oeﬁo 9 SrC e0trtd

iii) It contains clause about the permitted activities that can be taken up by company
90 %009 08 eododncd 5‘365595"3"&} t80c) deogivw $9A

&obnod

tv) It 1s helpful for outsiders in knowing about the company

S0 (9B0c) Bevu8 B’ w0kl it 96 EdrnSB

Options :
1 1l
1.4

1.1 & 11

1 & 1ii



i1 & 1ii

Question Number : 52 Question Id : 9683554001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true in case of sole trader form of business?
NELS a»Sava (S 86 )a»gavd Ernos’ S08 TS B Jao?

Options :

Business has perpetual existence and remains an ongoing concern
ao,g;}ncjo THS D $DA cotwod  B0BA YD\ dF 3008

1. %

Sole trader can also raise huge amounts of capital as in the case of companies
0000 JPAOTS 3¢ T8 L @b Awdod W)

RELEEEEN
2. %

All business decisions are centralised in sole trader business

0d) TS ddairen G (0 (oS’ Solg B eotrown
3. ¢ Z = Z

Sole trader is individually liable but not the family

DS TE DISHBOMT EPG{S HPFE SR LHV0O S
4, %

Question Number : 53 Question Id : 9683554002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the statements are true i case of Prospectus?
FNED JaHod’ 306 0 VY B Ao’

1) Prospectus is an mvitation to the public to subscribe for shares, debentures and
bonds of a company

TG 638 a8 000 2. Afoso Bk el © §0 VS
DODEPRS PRV B (o

ii) Public Ltd. companies which raise the funds from private sources have to prepare
statement i Lieu of prospectus
205 BBE donden DI AoRY HEEY FNED D axcbewrr

%3}&521)0&54{13 ﬁngo Sodrd

iii) Prospectus 1s a document which explains prospects of company.
FONED 4o wdsTORd 88D w8 ddo

iv) It should give the contents of memorandum of association
ArTodo @ B nabad 0308), WoTOR oS’ 2

Options :
1, 11 & 1ii
1.4

i, 111 & 1v
2. %

1,111 & 1v
3. %

111 & 1v
4, %

Question Number : 54 Question Id : 9683554003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. A statement of guidance and instructions which defines and confines the area of
discretion of subordinates in the matters of decision making is known as

&')goi’no S0 daaired’ foe.}“gfmﬁ DRUALTC BRI IAN 3655)053 <ndadn HBeko
AR Q86365800 D00 APLL DIARD ------- e90trd)

Options :
Strategy
o

Objective
VL0

Procedure

DT°H0
3. #

Policy

Do
4,

Question Number : 55 Question Id : 9683554004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following i true in case of Authority and responsibility?

wisto Siak erefd oo S8 BS B dao?

1. Responsibility is the outcome of authority
wd&é w8 wd5do cfmsb 20

ii. Authority should not be given to subordinates but make them to be responsible
A &alavﬁé 93560 AETED D 6 el G Ly 303rd

iit. Minimum authority and maximum responsibility is an ideal combination
499 e9d5°80 00N ﬁﬂg emc:ﬁige:& 28 e.ed% Soows

iv. Authority and responsibility should flow in the same direction
wi0 00w (s w8 B35 eord

Options :

iand 11

1 8aiw 1

1 and 111

1 0803w 111
2. %



c1and 1v

1 8a 1v

11 and 1v

ii sSo8aodw 1v
4, ®

Question Number : 56 Question Id : 9683554005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which one of the following 1s a function of organizing?
So& ooBS” IS esddRoh DoLS ?

Options :
Controlling and supervision of workers
528 v dabode 8oin DEfDLR

1. %

It puts together different parts of enterprise and runs it as a whole

A b PE &'V DG wrrod $9 dwdo TN HENBS
2. ¢

Control of inventory is one of the functions of organization

ZDT Jooges WIB eBIRoH IS wsd
3. %

Deciding the factory lay out is considered as organization

F(88 S S D dowoscto Dol M DOEdosIDA0E
4, %



Question Number : 57 Question Id : 9683554006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a statutory company?
308 T8S° FHDo T JVEDD oD IB?

Options:
1 % ICICI

> % TCS

. » FCI

INFOSYS
4. %

Question Number : 58 Question Id : 9683554007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not true about centralization?
30846 80D $00 T78S° V& Ddzo SPEL?

Options :
Centralisation refers to concentration of authority i the hands of the top
management
30850t 6B 68 (D 308" whsto Sodsboditd) Ardaoed

1. %

Strategic and routine decisions are centralized
(ot S Qdain S letr Qgodiren SoHg 20 eobrow
2. ¢



Centralisation is suitable in case of small and traditional form of organization
) SoBokw AFoREralh drded” ) Hoe ks’ SeBstn vsreoT

&otnod
3. %

Top level managers are under high pressure and also enjoy the work.

&) Fran ITEPHw BES wIES SdpTDh Sbaw DAY dre
e3908°E.

Question Number : 59 Question Id : 9683554008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Rashtriya Ispat Nigam Ltd. 1s an example for

T°20H RIS DD DWEE - &3 amrirde

Options:
Basic and Heavy Industry

FPAE HB8030 2378 DEFD
1.¢

Capital Goods Industry
oS Aréy modf‘g

2. %



Construction Industry
bﬂﬂéﬁ relel - Fob)
3. %
Consumer Goods Industry

DAATH DL HOFAD
4, %

Question Number : 60 Question Id : 9683554009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true about Limited Liability Partnership in India?

oG350 DBS erei(d rtiP(ir(S (LLP) dowoBod) 08 88" 8 daso?

Options :

AnLLP is a body corporate and a legal entity separate from its partners,

[IP 938 a4 31’6"38&5 ‘bo“%} oy o a;"ﬁ%ﬂsm)v Aol DT &)

WD oA
By @

1.4

Indian Partnership Act 1932 is applicable to LLP

TESAD ey weo 1932 LIPS 582008
2. %

Maximum number of partners in a LLP can be 20

LLP & zredeqane #83 020 sedehy



One of the partners must be in India

wﬁﬂﬂsmj&:esﬁ 28 SDYIDE 2r8es %0 &5° cord

Question Number : 61 Question Id : 9683554010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A suitable technique of data collection in case of respondents spread over a large area is:

D6 Fodos” DYBodd T8 doodt Ger VS6m ks’ SN HES

Options :

Interviews

@cmdy&w

1. %

Observation

DHEROD

Questionnaire

DT DY

Schedule
E:zd:ﬂge.'i

Question Number : 62 Question Id : 9683554011 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Column heading in a table is known as

7‘.3@5956 SPOQ) ::F-éoﬁ -------- 29080

Options :
Stub
208
e

Table point

32205 ra08S

Cell

Caption

8¢
4.

Question Number : 63 Question Id : 9683554012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given, Mean = 25.67 and Median = 21.10, Mode would be
0S20¢s(00 (F) =25.67 Lwbaky e (AAHS) =21.10, Do

EPeRO¥E0 (ArE) Do

Options :



#

[
<
L]

. 10.96

5 % 11

h

, 11.96

Question Number : 64 Question Id : 9683554013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Given N =31, >(fX) = 0.21776, Harmonic Mean would be
N=31. > (IX) = 0.21776 mabéggmﬁ. #612)5 DS Joeh?

Options :
1. % 143.24

Question Number : 65 Question Id : 9683554014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Karl Pearson’s coefficient of skewness is calculated by the formula
FO OO ding) D heso (8 Mhdkel§ 8D AT 3D ) e AP0

0 Gébotﬁmcﬁnmo&

Options:
Mode — Standard deviation/ Mean

eVTEo - Fareds oo/ @oseo

1, %
Mean — Standard deviation/ mode
@080 - FOrHs oo / erirovEo
2. %
Mean — Mode / Standard deviation
®ogLE(0 - erirTdo / Frarreds Dedeordo
3. v
Mean — Median / Standard Deviation
9082000 - OB [ Prdrreds Desodo
4, %

Question Number : 66 Question Id : 9683554015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a two dimensional diagram?

S08 T8S° DO Totd EAVDS SrdBo?

Options :



Bar diagram

e S W¢ho

Rectangle

B 50630

Line diagram

S Sarrdddho
3. %

Cartogram

S OTraD
4% O

Question Number : 67 Question Id : 9683554016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mean deviation s least when calculated using --------

------ EHATART oS Jvdo T DG B 0T &0bn0d

Options :

Mean

Eﬁoé&fxxﬁémn

1. %

Mode

eI aTOY S0



Quartiles

. svsge_n:}

Median

a‘.uc;’sér‘ie:&é)
4.

Question Number : 68 Question Id : 9683554017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the amount of change in one variable does not bear a constant ratio to the amount of

change in the other variable, correlation is said to be
a8 Sbabwd & Srd ando @88 babwd € Arth) T VO
ANGD 480 Sotidd, - 2080600 ©90EPE)

Options :
Positive.

es s ET0e)

Negative
VOETO)
2. %

Linear

a6
3. %



Non linear

=S OaH6

4. &

Question Number : 69 Question Id : 9683554018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following averages is used in calculation of index numbers?
ATE DofR (S S08 THS’ D ekt EDAAFE?
Options :
Geometric Mean

toea mcsé.mo
1.4

Mode

EIOYE0

Harmonic Mean

a‘:ucﬂe:%s mdémo

All of these

\ @5&@8)?&1}

Question Number : 70 Question Id : 9683554019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

. The two regression lines are given as; 3x+5y — 42 =0 and 2x+y - 80 =0, Estimate of'y
when x = 10 would be;

Goco B Ten mer @wErow; 3X + 57 -42 =0 oo 2% +y-80=0.

X 0T oo = 10 G&RY\D ¥ awg) W

Options :

Tl
N

1. %

Lo 24

Question Number : 71 Question Id : 9683554020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Full form of RTGS

RTGS eocdre

Options:

Real Time Gross Section

BODHS B O DED

1. %

Real Time Good Selection

, BobS B ME POLS



Real Tested Gross Settlement

B80S BPE TR DS 085
3. %

Real Time Gross Settlement

80HS B TR DS 085
4.+

Question Number : 72 Question Id : 9683554021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Individuals, Government, Corporates park their money for a short period of overnight

to less than one year i ---------

aﬁs§om Qméso. ?6”38&5&13 S dmaéa F:)SUD) &’JTSbé oI w8 T8 Aok ws

SRLNC 1 R — 6‘3‘166 (Dtoed) S,

Options :

Stock Market

J°5 53°5) €5

1.8 ®
Capital Market
Se(0ee) SHI°0) 85

. S b

Money Market

209 53°5),€5
3.



Commodities Market

e, DYV A7) &

Question Number : 73 Question Id : 9683554022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the latest number of Nationalised Banks in India?
28D %05 2300 BoDedSd e{050R) TP R0 Jodh?

Options :
1 % 27

2.v 12

3 % 19

4 % 21

Question Number : 74 Question Id : 9683554023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Regional Rural Banks have been founded in the year

FoBah e erjodien  DodS\Goes” ‘g“bonﬁa}g“m'?

Options :
1985

1. %



, % 1980

, , 1975

1970
4, %

Question Number : 75 Question Id : 9683554024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true about the Payment Banks?
220085 e§ow (180D S08 TAS” DB Jao S’
Options :
These are very old type of banks in the Indian Banking industry

26B0% erfosoh DOZLS @D Trer FV o erfocden
1.¢

They are not allowed to lending activity

&oee Tﬁgéﬂﬂ%ﬂuéa 783 AN T

They offer services like ATM cards, debit cards, net-banking and mobile-banking.
T ATM s6oen, GO s°ghen, B-erjosoh  H0Boky A@S-erjoSoh Hoé)
RBVR) BOBFE.

3. %



Airtel Payments bank was the first payment bank in India

o685 BYoPe er(oS erESBHeS” AhAGS B0y erjo

Question Number : 76 Question Id : 9683554025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which 1s true about Small Finance Banks?
5“3395 DTy eT(oHLV 050065 DA Do?
Options :

Their main objective is to further financial inclusion
T DD vgfo Lbod el W30S (DTS AR )

1.4

They cannot take deposits

0d A2t S0ETY

They are in existence for the past 20 years

@ ¢ 20 DosdesorewrT &3e5 &T°) o0
3, %

They are restricted in sanctioning loans particularly to micro businesses

08(800) Arg) TIFTVD Grren Sowrdh Sabeiod’ B HONdo SaeEow

4, ®



Question Number : 77 Question Id : 9683554026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wrongful dishonor of cheque by bank means:
erjod B Sy BPocssYdelo Tor PEDossTdelo ed

Options :

No reasons are attached for dishonor

OFPET DS DD SeErTe S GodEroo
1.9

Account on which the cheque is drawn does not consist of the funds

DL, orad areres’ deven FE S
2. ®

Cheque is stopped for payment by the drawer

Grapd 3oy BoLSGD 35 JD1bDoseko
3.

All of these

L @5&@8)9&1}

Question Number : 78 Question Id : 9683554027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The KYC Compliance & Fraud Prevention Day is observed every year on --------

KYC 558 oot Iro AT 8o (58 Moo & Tl ethsotrin

Options :

- 1% July



. 1* September

- 1 August

1¥ October
4, %

Question Number : 79 Question Id : 9683554028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the debt instrument from the following
308 &) R0od K6 o0HSRN HdBotsod

L Government Securities iv.  Options
DA DETIBLRD %)

iL Debentures convertible v Commercial papers
G038 $(Ged e g

111, Non convertible debentures

Sés&&nei 529 2505 V1 Preference shares
2D ™
TR TreD
Options :
1,1, i, 1v
1. %
L3 Y

2. ¢



11, 111, 1V, V1

111, 1V, V. Vi

Question Number : 80 Question Id : 9683554029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The latest cash reserve ratio 1s:
(2 r e Te T b) 2)9.:5 .ﬁfq;)eg:

Options:

i
1% 1.5%

Question Number : 81 Question Id : 9683554030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the antonym for the word ‘Random’
Options :

| « Accidental



5>« Systematic
3. % Unplanned

Objéctless
4. %

Question Number : 82 Question Id : 9683554031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word ‘Genuine’
Options :
Bogus

1. #

, « Superficial

3. » Generous

Authentic
4, &
Sub-Section Number : 2
Sub-Section Id : 96835575
Question Shuffling Allowed : Yes

Question Id : 9683554032 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (83 to 85)

Question Label : Comprehension



Read the following passage and answer the questions:

Empowerment is the process of enabling mdividuals or groups to use the power for
achieving the agreed goals. It can be both individual and collective. The main function of
every leader 1s to multiply power in the organisation, which means empowering people at
all levels. The process of empowerment is concerned with creating conditions i which this
inner power can be used effectively.

Empowerment is the authority to make decisions within one’s area of responsibility without
first having to get approval from someone else. Empowerment s somewhat similar to the
traditional delegation of authority except two features which make it unique and different
from delegation. Employees are encouraged fo use therr initiattve and just do the job.
Employees are not only given the authority but also resources so that they are able to make
decisions and have the power to get them implemented,

Empowerment program may transform stagnant organisation info a vital one by creating a
shared purpose among employees, encouraging greater collaborations and most importantly
giving enhanced value to customers. To do so the organisation must overcome certain
abstacles and embed empowerment in its cultural value,

Sub questions

Question Number : 83 Question Id : 9683554033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

E]]Jpﬂ‘ﬁ"&l’]]l&lll’ meains

Options:

| » Delegation of authority to make employees take decisions.

> % Changing the culture of organization to facilitate empowerment

3« Giving enhanced value fo customers and seeking collaborations

Make the employees to use their initiative take decisions and get them
4. v 1mplemented.



Question Number : 84 Question Id : 9683554034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the meaning of the word “stagnant’?

Options :

1 = Careless

5 Static

5 % Changing

Variable

Question Number : 85 Question Id : 9683554035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the passage teaches the leaders?
Options :

Concentrate on individual development to make them achieve their individual
1 % goals

,  Empower each individual at all levels to create synergy i the organization.

- I_)‘eleganc?n of Iaut‘hor@f may not empower the ?mployees

Change the attitude of people by fixing the goals



Sub-Section Number : 3
Sub-Section Id : 96835576

Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 9683554036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify a routine report from the given below:
Options :

1 = Directors report
> = Auditors report

5 Sales report

Standing committee report
4. %

Question Number : 87 Question Id : 9683554037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A title page of the report consists of:
i Subtitle
ii.. ~ Name of the author
iil.  Project number
iv.  Covering letter
v.  Approvals
vi.  Introductory letter

Options :

e L L il iV



5 o i il il v

3 % 1L 1LIV.V

4 % LIV, 'V

Question Number : 88 Question Id : 9683554038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Precision in report writing helps in

Options :

1« The analysis and recommendations as per the objectives

, » Retaming the reader orientation

5 » Grammatically correct

Concise presentation

Question Number : 89 Question Id : 9683554039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Bibliography means

Options:

1 = Serially numbered list of appendices



,  Serially numbered list of works consulted during the research

3 % Seriaﬂ;f numbered list of Tables

Serially numbered Contents

Question Number : 90 Question Id : 9683554040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Main Body of a report consists of;
1. Introduction
i1.  Discussion
ii.  Appendices
iv.  Bibliography
V. Conclusions
vli. Recommendations

Options:

L L, i, iV

2. % 1 11 i‘&e‘__ Vi

3. % 1, 111, V. V1
1 1, V. Vi

4,

Question Number : 91 Question Id : 9683554041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the frequency of the Monetary Policy Review of the Reserve Bank of India?
6&55 wsoé B8 Qocair a3g), Gy P& 2E. ot S0 998 &

NOGEPFE ?

Options :

Fortnightly
DEo FareoH

1. %

Quarterly
BATVSS
=

Bi-Monthly

BRA"SAS
3.¢

Weekly
TS 6

Question Number : 92 Question Id : 9683554042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who 1s the current Chairman of State Bank of India?
8 08 3D QoA DAY BE) D DDE?

Options :
Dinesh Kumar Khara

B 56 orTe
1.9



Rajnish Kumar

5 % B2DD HATE

Arundhati Bhattacharya
. eaddotded z;:%}mdé

B. Sriram

D. oo
4. %

Question Number : 93 Question Id : 9683554043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.Who is the current Chairman of Niti Ayog?
NS BTG DS BELS DDE?

Options :

Amitabh Kant

9 DETPE)  SPoD
1, %

Nirmala Sitharaman

K}déu“ DT D
2. %

Narendra Modi

L o 0008 drc

Arvind Panagariya

; 98D0d DB
4.



Question Number : 94 Question Id : 9683554044 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘SWIFT’ code which 1s used in international banking stands for -------

@Oﬂﬁl‘?‘qéé H“?Soéoﬁ & encirhod S& "?0553” B seeucnin

&
Options :
Society for worldwide Inter-bank Fund Transfer

TR D6 H6S PE WS &S Do& YD

Society for worldwide Inter-bank Fast Transmission
TR D6 HES DE Rowd ere§ FRQ LA
2. %

Society for worldwide Inter-bank Financial Telecommunication

TR D6 HOT DE @006 erfos PIAADY BISANISARD

3. ¢

Society for worldwide Inter-bank Fundamental Telecommunication

TR D6 HOS DE Q006 &r(o5 Doctdote BILIIEND

Question Number : 95 Question Id : 9683554045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



- GST was infroduced in the year ------------
2 205\60&5" GST DD¥DLEE?

Options :
. % 2018

, % 2016
_ x 2019

2017
4.

Question Number : 96 Question Id : 9683554046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SEBI stands for:
22) e9083:

Options :
The Securities and Exchange Board of India

?aﬁr5aé35 e90& ;)éhoaﬁ esﬁg 3D Qodair
1.+ '

The Securities Exchange Board of India

335:056&35 .;)émoa% e.&'ﬁg e39 @odair
2. # '

The Securities Exchangeable Board of India
RLFIBED D5 026085 85° e2D Roctos
3, % |



The Securities and Extended Board of India

?ag:uéae?;in ©0& I5\Bol & zSﬁg 29 ol adT
4. %

Question Number : 97 Question Id : 9683554047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NSE head office is located at ----------
NSE 50 S°0°{R10%00 -------- e5° &od

Options :
Mumbai

D083
1.¢

Chennai

a8)

2. &

Delhi

9
3. %

Bengaluru

Alelal=byleb]
4. %

Question Number : 98 Question Id : 9683554048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Economic package declared by Central Government to overcome the COVID 19
Pandemic s called as ---------

§6 19 Qi) 8 e9B(ivodemS Sogd HEbE0 P 03 3"5§e§..3 --------
290t

Options:
Athma bandhu
E’je‘_’% 22060

1. %

Athma nirbhar

- e.?e:’sé .5}6{):5

Athma yojan

e:sre:&é O3T°280
3. %

Athma vishal

eeﬁé DT°ed
4, %

Question Number : 99 Question Id : 9683554049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The main objective of MGNREGA is ------
MGNREGA cﬁx)s&j a‘njajs &a%‘so ______

Options :
Support a minimum price for crops

Doty €D 38 evoBoso

1. %



Help the farmers to purchase fertilizers
3oen DL SHend DGtoho BaHeo

Provide 100 days employment to unskilled

Diyesjo S 83 100 Bare) eard $dyoedeto
3. ¢

Provide scholarships to single girls for education

20008 erdsOD Desg %0 &Guﬁb::mmammu
4, %

Question Number : 100 Question Id : 9683554050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A system of recording mformation in a way that makes it difficult or impossible to
change, hack, or cheat the system 1s known as «=------

SR &0 drdyo, TS Solbcto T Aro Saktto, S0 o wiFdfo 3D
808" DraTd) 850 SO BESRAD - wokrd

Options :
Artificial intelligence
Sy 35:1{:5::1}:}
®

Machine learning
DA ©8) 0

Block Chain technology

- S B0 G5y oR



Digital Payments
daees 3ospen



